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Bond Polarity Worksheet

Note: Can't look at “bonding” between 2 metal atoms, all are “metallic bond”

N
Be - Se

pen=2.5 24 0.9

Bond PolarityNOH"p elar
(did show symbot for Polar)

)

AEN = - =

Bond Polarity:

D)
P

3‘0 2rl
AEN =3.0.3,] = O. 9

Bond Polarity:_@s lg

(did show symbol for Polar)

D

AEN = - =
Bond Polarity:
(did show symbol for Polar}

{did show symbol for Polar)
Ca - Br

5)
/7,0 1.8

AEN =38 1o = LY
Bond Polarity: Zen 1€

(did show symbol for Polar)

6)

AEN = - =
Bond Polarity:
(did show symbol for Polar)

D A

C -0

2.5 3.5
AEN=3.5.2.5- 40
Bond Polarity: Polar
(did show symbol for Polar)

‘)

AEN = - =
Bond Polarity:

{did show symbol for Polar)

—t
) F-Be
Y40 2.%

AEN =I/’O_ 2'?= fr Z
Bond Polarity: POI"a r

{did show symbol for Polar)

P

AEN = - =
Bond Polarity:
{did show symbol for Polar)

5

AL - O
ns 3.5

aen=2.5- 15. 2,0

Bond Polarity: Fonl &

(did show symbol for Polar)

)

AEN = - =
Bond Polarity:

{did show symbol for Polar)




